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Y& AE
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FFEEH — B/NERPEE(BEFREERENRREE)
(CGA 2.277 0.003 - 0.856 0.031 &
S TR 1.512 0.010 - 0.366 0.057 =
FJLFE (HCI) 4,545 0.000 - 0.248 0.141 s
mIbE (HF) 0.306 0.001 - 0.087 0.048 s
—E/Ehi (SO2) 15.147 0.004 - 5.167 2.248 =
—&Ei% (CO) 7.578 0.005 - 0.080 0.049 =
FALY) (NOx)
PL—&AEE (NO2) 30.303 1.153 - 5.888 2.370 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.007 - 0.183 0.033 &
S T 0.756 0.038 - 0.070 0.057 =
/b= (HCI) 0.756 0.081-0.177 0.139 s
mIbE (HF) 0.072 0.039 - 0.051 0.048 s
— &b (SO2) 3.789 1.879 - 2.576 2.247 =
—&Ei% (CO) 3.789 0.031 - 0.058 0.048 =
HEY (NOx)
LIS [EE (NOy) 15.147 1.994 - 3.211 2.389 =
EHE
28 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 0.0006 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0053 &
IR R g ) 7.575x 10°° <5.871 x 1010 =
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S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.003 - 0.027 0.005 &
S TR 1.512 0.017 - 0.357 0.076 =
/b= (HCI) 4.545 0.059 - 0.219 0.160 s
mIbE (HF) 0.306 0.013 - 0.079 0.035 s
—E/Ehi (SO2) 15.147 0.020 - 3.899 2.223 =
—&Ei% (CO) 7.578 0.000 - 0.074 0.017 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.304 - 6.977 1.128 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.004 - 0.006 0.005 &
S T 0.756 0.046 - 0.139 0.079 =
/b= (HCI) 0.756 0.143-0.177 0.161 s
mIbE (HF) 0.072 0.030 - 0.044 0.035 =
— &b (SO2) 3.789 2.090 - 2.333 2.221 =
—&Ei% (CO) 3.789 0.009 - 0.037 0.018 =
HEY (NOx)
LIS [EE (NOy) 15.147 0.783 - 2.080 1.116 =
EHE
S8 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0011 =
E4EEE" 0.0378 <0.0051 &
R R g ) 7.575 x 10°° <5.614 x 1010 &
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S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.000 - 0.012 0.002 &
S TR 1.512 0.000 - 0.367 0.057 =
/b= (HCI) 4.545 0.000 - 0.140 0.091 s
mIbE (HF) 0.306 0.000 - 0.086 0.037 s
—E/Ehi (SO2) 15.147 0.000 - 4.118 1.918 =
—&Ei% (CO) 7.578 0.000 - 0.094 0.037 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.000 - 4.565 1.655 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.001 - 0.003 0.002 &
S T 0.756 0.018 - 0.101 0.057 =
/b= (HCI) 0.756 0.066 - 0.116 0.091 s
mIbE (HF) 0.072 0.029 - 0.043 0.037 s
— &b (SO2) 3.789 1.361 - 2.181 1.917 =
—&Ei% (CO) 3.789 0.016 - 0.060 0.037 =
HAY) (NOx)
LIS [EE (NOy) 15.147 1.034 - 2.521 1.653 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 0.0006 =
i fe SEHVAR 0.003789 <0.0012 =
E4EEE" 0.0378 <0.0052 &
R R g ) 7.575 x 10°° <5.824 x 1010 &
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S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NEREEE(BEFEERENRREE)
(CGA 2.277 0.000 - 0.026 0.004 &
S TR 1.512 0.000 - 0.419 0.065 =
/b= (HCI) 4.545 0.000 - 0.142 0.086 s
mIbE (HF) 0.306 0.000 - 0.077 0.028 s
—E/Ehi (SO2) 15.147 0.000 - 2.957 1.786 =
—&Ei% (CO) 7.578 0.000 - 0.144 0.054 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.000 - 4.514 0.921 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.002 - 0.005 0.004 &
S T 0.756 0.022 - 0.115 0.064 =
/b= (HCI) 0.756 0.065 - 0.120 0.086 s
mIbE (HF) 0.072 0.019 - 0.037 0.028 s
— &b (SO2) 3.789 1.520 - 1.925 1.786 =
—&Ei% (CO) 3.789 0.032 - 0.076 0.054 =
HAY) (NOx)
LIS [EE (NOy) 15.147 0.562 - 1.439 0.922 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 0.0003 =
i fe SEHVAR 0.003789 <0.0011 =
E4EEE" 0.0378 <0.005 &
R R g ) 7.575 x 107 <5.615 x 1020 &
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